1.6 |UTP Cable CAT6 rolls 5
1.7 |RJ45 Connector box 1
1.8 |RJ45 Rubber Boot box 1
1.9 |Fiber Optic Cable 8 Core Single Mode mtr 300
1.10 |Fiber Panel SC Loaded 12 port (unit) set/s 6
1.11 |Fiber Patch Cord 3m SC-LC Single Mode (pieces) set/s 12
1.12 |Fiber Optic Pigtail Single Mode (pieces) set/s 48
1.13 |PVCPipe11/2" pcs 108
1.14 |PVCElbow 11/2" pcs 30
1.15 |PVC Coupling11/2" pcs 30
1.16 |PVC Connector w/Locknut 1 1/2" pcs 30
1.17 |Pull Box 8"x8"x4" pcs 6
1.18 |Plastic Junction Box 4''x4" pcs 6
1.19 |PVCPipe 1/2" pcs 152
1.20 |PVCElbow 1/2" pes 30
1.21 |PVC Coupling 1/2" pcs 30
1.22 |PVC Connector w/Locknut 1/2" pcs 30
1.23 |PVC Sealant can 1
1.24 |Plastic Moulding 1" pcs 100
1.25 |No Nail Adhesive pcs 5
1.26 |G.|. Wire #16 kgs 10
1.27 |Metal Clamp 1 1/2" 2 hole pcs 100
1.28 |[Metal Clamp 1/2" 2 hole pcs 50
1.29 |Tox & Screw #6 pcs 150
1.30 |Electrical Tape pcs 3
1.31 |Masking Tape pcs 2
1.32 |Plastic Tie Wrap 10" pck 1
2 |ADMIN - 2F
2.1 |Data Cabinet 12RU set/s 3
2.2 |Expansion Bolt and shield set/s 12
2.3 |Amco Box set/s 62
2.4 |Information QOutlet CAT6 set/s 62
2.5 |Face Plate Duplex set/s 62
2.6 |UTP Cable CAT6 rolls 515
2.7 |RJ45 Connector box 1
2.8 |RJ45 Rubber Boot box 7l
2.9 [Fiber Optic Cable 8 Core Single Mode mtr 300
2.10 |Fiber Panel SC Loaded 12 port (unit) set/s 6
2.11 |[Fiber Patch Cord 3m SC-LC Single Mode (pieces) set/s 12
2.12 [Fiber Optic Pigtail Single Mode (pieces) set/s 48
2.13 |PVCPipe11/2" pcs 111
2.14 |PVCElbow 1 1/2" pcs 30
2.15 |PVC Coupling 1 1/2" pcs 30
2.16 |PVC Connector w/Locknut 1 1/2" pcs 30
2.17 |Pull Box 8"x8"x4" pcs 6
2.18 |Plastic Junction Box 4''x4" pcs 6
2.19 |PVCPipe 1/2" pcs 200
2.20 |PVCElbow 1/2" pcs 50
2.21 |PVC Coupling 1/2" pcs 50
2.22 |PVC Connector w/Locknut 1/2" pcs 50
2.23 |PVC Sealant can ik
2.24 |Plastic Moulding 1" pcs 124
2.25 |No Nail Adhesive pcs 5
2.26 |G. . Wire #16 kgs 10
2.27 |MetalClamp 11/2" 2 hole pcs 100
2.28 |Metal Clamp 1/2" 2 hole pcs 50




2.29 |Tox & Screw #6 pcs 150
2.30 |Electrical Tape pcs 3
231 Masking Tape pcs 2
2.32 |Plastic Tie Wrap 10" pck 1

3 ADMIN - 3F

3.1 |Data Cabinet 12RU set/s 2
3.2 |Data Cabinet 42RU set/s 1
3.3 |Expansion Bolt and shield set/s 12
3.4 |Amco Box set/s 25
3.5 |Information Outlet CAT6 set/s 25
3.6 |Face Plate Duplex set/s 25
3.7 |UTP Cable CAT6 rolls 5
3.8 |RJ45 Connector box 1
3.9 |RJ45 Rubber Boot box it
3.10 |Fiber Optic Cable 8 Core Single Mode mtr 300
3.11 |Fiber Panel SC Loaded 12 port (unit) set/s 6
3.12 |Fiber Patch Cord 3m SC-LC Single Mode (pieces) set/s 12
3.13 |Fiber Optic Pigtail Single Mode (pieces) set/s 48
3.14 |PVCPipe11/2" pcs 74
3.15 |PVCElbow 11/2" pcs 30
3.16 |PVC Coupling 11/2" pcs 30
3.17 |PVC Connector w/Locknut 1 1/2" pcs 30
3.18 |Pull Box 8"x8"x4" pcs 6
3.19 |Plastic Junction Box 4"x4" pcs 6
3.20 |PVCPipe 1/2" pcs 100
3.21 |PVCElbow 1/2" pcs 20
3.22 |PVC Coupling 1/2" pcs 20
3.23 |PVC Connector w/Locknut 1/2" pcs 20
3.24 |PVC Sealant can 1
3.25 |Plastic Moulding 1" pcs 50
3.26 |No Nail Adhesive pcs 3
3.27 |G.|. Wire #16 kgs 5
3.28 |Metal Clamp 11/2" 2 hole pcs 100
3.29 |Tox & Screw #6 pcs 150
3.30 |Electrical Tape pcs 3
3.31 [Masking Tape pcs 2
3.32 |Plastic Tie Wrap 10" pck 1l

4 |AUDITORIUM

4.1 |Data Cabinet 12RU set/s 1
4.2 |Expansion Bolt and shield set/s 4
4.3 |Amco Box set/s 1
4.4 |Information Outlet CAT6 set/s 1
4.5 |Face Plate Duplex set/s oy
4.6 |UTP Cable CAT6 rolls 0.25
4.7 |RI45 Connector pcs 10
4.8 |RJ45 Rubber Boot pcs 10
4.9 |Plastic Junction Box 4"'x4" pcs 1
4.10 |PVC Pipe 1/2" pcs 4
4,11 |PVCElbow 1/2" pcs 2
4,12 |PVC Coupling 1/2" pcs 2
4,13 |PVC Connector w/Locknut 1/2" pcs 2
4,14 |PVC Sealant can 0.5
4.15 |Plastic Moulding 1" pcs 2
4.16 |No Nail Adhesive pcs 1
4.17 |G. . Wire #16 kgs 1
4.18 |[Metal Clamp 11/2" 2 hole pcs 10




4.19 [Metal Clamp 1/2" 2 hole pcs 10
4.20 |Tox & Screw #6 pcs 20
4.21 |Electrical Tape pcs al
4.22 |Masking Tape pcs 1
4.23 |Plastic Tie Wrap 10" pck 0.25
5 BGS MOTOR POOL
5.1 |[Data Cabinet 12RU set/s 1
5.2 |Expansion Boit and shield set/s 4
5.3 |Amco Box set/s 1
5.4 |Information Outlet CAT6 set/s at
5.5 |Face Plate Duplex set/s 1
5.6 |UTP Cable CATE rolls 0.1
5.7 |RJ45 Connector pcs 4
5.8 |RJ45 Rubber Boot pcs 4
5.9 |PVCPipe 1/2" pcs 5
5.10 |PVCElbow 1/2" pcs 2
5.11 |PVC Coupling 1/2" pcs 2
5.12 |PVC Connector w/Locknut 1/2" pcs 2
5.13 |PVC Sealant can 0.5
5.14 |Plastic Moulding 1" pcs 2
5.15 |No Nail Adhesive pcs 1:
5.16 |G.|. Wire #16 kes 1
5.17 |[Metal Clamp 1/2" 2 hole pcs 10
5.18 |Tox & Screw #6 pcs 20
5.19 |Electrical Tape pcs 1
5.20 |Masking Tape pcs 1
5.21 |Plastic Tie Wrap 10" pck 0.25
6 BSND
6.1 |Data Cabinet 12RU set/s 1
6.2 |Expansion Bolt and shield set/s 4
6.3 |[Amco Box set/s 2
6.4 |Information Qutlet CAT6 set/s 2
6.5 |Face Plate Duplex set/s 2
6.6 |UTP Cable CATE rolls |0.1311475
6.7 |RJ45 Connector pcs 4
6.8 |RJ45 Rubber Boot pcs 4
6.9 |Plastic Junction Box 4"x4" pcs 2
6.10 |PVC Pipe 1/2" pcs 10
6.11 |PVC Elbow 1/2" pcs 3
6.12 |PVC Coupling 1/2" pcs 3
6.13 |PVC Connector w/Locknut 1/2" pcs 4
6.14 |PVC Sealant can 0.5
6.15 |Plastic Moulding 1" pcs 4
6.16 |No Nail Adhesive pcs 1
6.17 |G.|. Wire #16 k§§ ik
6.18 |Metal Clamp 1/2" 2 hole pcs 10
6.19 |Tox & Screw #6 pcs 10
6.20 |Electrical Tape pcs 1
6.21 |Masking Tape pcs 1
6.22 |Plastic Tie Wrap 10" pck 0.25
7 CAF OLD
7.1 |Data Cabinet 12RU set/s 1
7.2 |Expansion Bolt and shield set/s 4
7.3 |Amco Box set/s 4
7.4 lInformation Outlet CAT6 set/s 4
7.5 |Face Plate Duplex set/s 4




7.6 |UTP Cable CAT6 rolls | 0.3532787
7.7 |RJ45 Connector pcs 8
7.8 |RJ45 Rubber Boot pcs 8
7.9 |PVCPipel1/2" pcs 15
7.10 |PVCElbow 11/2" pcs 5
7.11 |PVC Coupling 1 1/2" pcs 5
7.12 |PVC Connector w/Locknut 1 1/2" pcs 4
7.13 |Pull Box 8"x8"x4" pcs 5t
7.14 |Plastic Junction Box 4"'x4" pcs 4
7.15 |PVCPipe 1/2" pcs 7
7.16 |PVC Elbow 1/2" pcs 3
7.17 |PVC Coupling 1/2" pcs 3
7.18 |PVC Connector w/Locknut 1/2" pcs 4
7.19 |PVC Sealant can i
7.20 |Plastic Moulding 1" pcs 6
7.21 |No Nail Adhesive pcs 1
7.22 |G.|. Wire #16 kgs il
7.23 |Metal Clamp 1 1/2" 2 hole pcs 10
7.24 |Metal Clamp 1/2" 2 hole pcs 10
7.25 |Tox & Screw #6 pcs 20
7.26 |Electrical Tape pcs 1
7.27 |Masking Tape pcs 1
8 CAF 3 STOREY BLDG-GF
8.1 |Data Cabinet 12RU set/s 1
8.2 |Expansion Bolt and shield set/s 4
8.3 |Amco Box set/s 1
8.4 |Information Outlet CAT6 set/s 1
8.5 |Face Plate Duplex set/s 1
8.6 |UTP Cable CAT6 rolls | 0.0983607
8.7 |RJ45 Connector pcs 4
8.8 |RJ45 Rubber Boot pcs 4
8.9 |Plastic Junction Box 4''x4" pcs 1
8.10 |PVC Pipe 1/2" pcs 6
8.11 |PVCElbow 1/2" pcs 3
8.12 |PVC Coupling 1/2" pcs 3
8.13 |PVC Connector w/Locknut 1/2" pcs 2
8.14 |PVC Sealant can 0.5
8.15 |[Plastic Moulding 1" pcs 2
8.16 |No Nail Adhesive pcs 0.2
8.17 |G.|. Wire #16 kgs i
8.18 |Metal Clamp 1/2" 2 hole pcs 10
8.19 |[Tox & Screw #6 pcs 10
8.20 |Electrical Tape pcs 0.3
8.21 |[Masking Tape pcs 0.3
8.22 |Plastic Tie Wrap 10" pck 0.25
9  |CAF 3 STOREY BLDG-2F
9.1 |Data Cabinet 12RU set/s 1
9.2 |Expansion Bolt and shield set/s 4
9.3 |Amco Box set/s 1
9.4 lInformation Outlet CAT6 set/s 1
9.5 |Face Plate Duplex set/s 1
9.6 |UTP Cable CAT6 rolls | 0.0983607
9.7 |RJ45 Connector pcs 4
9.8 [RJ45 Rubber Boot pcs 4
9.9 |Plastic Junction Box 4"'x4" pcs 2
9.10 |PVC Pipe 1/2" pcs 10




